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QUESTION 1

2024 Latest geekcert C2090-621 PDF and VCE dumps Download

A report author wants to create an Active report with a Static Deck/ Each card should show a Chart with differently-

filtered data.

What should the Chart for each card be based on?

A. An item that is a property of the page.

B. A query item that is a property of the Chart.

C. A unique query with a filter applied to the query.

D. Reuse the same query with a filter applied to the query.

Correct Answer: B

QUESTION 2

A report author is considering which SQL syntax to use for accessing various Data sources.

What is the advantage of using one type of SQL syntax above another?
A. Cognos SQL can use non-standard SQL.
B. Cognos SQL works on any supported database.

C. The performance is optimized across all related query subjects with Pass Through SQL.

D. With Pass Through SQL and Native SQL, the SQL may not work on a different database.

Correct Answer: C

QUESTION 3

A report author renders an Active Report as an TML file on the local computer.
Where are the Charts Created?

A. All Charts are rendered in the client.

B. All Charts are rendered on the server.

C. Non-prompted Charts are rendered in the client.

D. Only prompted Charts are rendered on the server.

Correct Answer: A
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QUESTION 4

A report author wants to add calculations that were created in the published package to a report.
Where can this be done?

A. Macro tab

B. Source tab

C. Functions tab

D. Parameter tab

Correct Answer: C

QUESTION 5

A company would like to implement their own corporate style across all reports using a single Report as a reference. A
requirement is to display the year of the data selected in the report in the header. The year is not being resolved
correctly as shown below: How can the problem with this report be resolved?

My Company Header  <Z Year>
LAl enll] 3 Component reference [x)
Component Location
Personal Accessories ' This report
@ Another report =
(Corporate Layout Reference. |

Outdoor Protection Available components to reference:

B Listy

« "1 MYHeader For the Company

Mountaineering Equipment Js& MY Header Titel

E" MyYear Singleton

Product line

Golf Equipment

Camping Equipment

OK Cancel

A. The component reference has to be overwritten with a new defined "My Header Title" inside the new report.
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B. The component reference has to be overwritten with a new defined "MyYear Singleton" inside the new report.
C. A component reference cannot contain a Singleton. The "Corporate Layout Reference" report has to be changed.

D. A component reference cannot contain a Singleton. The reference cannot be used and the header has to be created
manually.

Correct Answer: B
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